victima

«column»
*PK id: integer
nombre: varchar(50)
apellido: varchar(50)
resena: text
fotografia: varchar(300)
fecha: timestamp

FK id_victima arbal: integer

* % ok ok

+FK_victimgazpgl

arbol

«column»
*PK id: integer
* nombre: varchar(120)
* fecha: timestamp
* fotografia: varchar(300)
FK id_arbol_zona: integer
FK id_arbol_subespecie: integer

«FK»

+  FK_victima_arbol(integer)
«index»

+  IXFK_ victima_arbol(integer)
«PK»

+  PK_victima(integer)
«unique»

+ unique_victima_arbol(integer)

+PK_arbol

+FK_reporte_manual_arbol

reporte_manual

=

«column»

*PK id: integer
estado: boolean

*  fecha: timestamp

* condicion: varchar(100)

* descripcion: text
accion_de_mejora: text
descripcion_incidente: text

* tamano: numeric(5,2)

FK id_reporte_manual_arbol: integer

«FK»

+  FK_reporte_manual_arbol(integer)
«index»

+ IXFK_reporte_manual_arbol(integer)
«PK»

+  PK_reporte_manual(integer)

«FK»
+  FK_arbol_subespecie(integer)
+  FK arbol_zona(integer)
«index»
+  IXFK_arbol_subespecie(integer)
+  IXFK arbol_zona(integer)

«PK»
+  PK arbol(integer)

+FK_arbpksshpeppeife

subespe

«column»
*PK id: integer
*  pombre: va

+FK_arbol_zona

+PK_zona

zona E

«column»
*PK id: integer
nombre: varchar(50)
* latitud: varchar(15)
* longitud: varchar(15)
area: numeric(8,2)
FK id_zona_bosque: integer

«FK»

+  FK_zona_bosque(integer)
«index»

+  IXFK_zona_bosque(integer)
«PK>»

+ PK_zona(integer)

+FK_zona_bosque
+PK_bosque

bosque E

«columny»
*PK id: integer
nombre: varchar(50)
Area: numeric(8,2)
latitud: varchar(15)
longitud: varchar(15)

*

*

*

«PK»
+  PK_subespe

«unique»
+  unique_norm

proyecto

+PK_bosque

«PK»
+  PK_bosque(integer)

+PK_bosque

+FK_medicion_bosque

sensor E

— o

* ok ok ok Ok Ok Ok F

+FK_proyecto_bosque

«columny»

*PK id: integer
estado: varchar(50)
nombre: varchar(50)
descripcion: text
imagen: varchar(300)
meta: bigint
fecha_de_creacion: timest
fecha_limite: timestamp
recompensa: varchar(50)

FK id_proyecto_bosque: integ

«FK»

«PK»

+  FK_proyecto_bosque(intege
«index»
+  IXFK_proyecto_bosque(intec

+  PK_proyecto(integer)

«column» .

*PK id: integer medicion

* nombre: varchar(50)

* latitud: varchar(15) «column»

* longitud: varchar(15) *PK id: integer

FK id_medicion_bosque: integer *FK id_medicion_sensor: i
FK id_sensor_tipo_sensor: integer * valor: varchar(10)

+PK_medicion * fecha: timestamp

«FK»

+  FK_medicion_bosque(integer) - «FK»

+  FK_sensor_tipo_sensor(integer) +FK_medicion_sensor +  FK_medicion_sensor(in
«index» «index»

+ IXFK_medicion_bosque(integer) + IXFK_medicion_sensor(

+  IXFK_sensor_tipo_sensor(integer) «PK»
«PK» +  PK_sensor(integer)

+  PK_medicion(integer)




ie

chars) |

cie(integer)

bre(varchar)

+FK_donacion_proyecto

donacion

«column»
*PK id: integer
* fecha: timestamp
cantidad: bigint = 0

FK id_proyecto_donacion: integer

mp FK id_donacion_donante: integer
«FK»
7 +PK_proyecto +  FK_donacion_donante(integer)
‘ +  FK_donacion_proyecto(integer)
«index»
) +  IXFK_donacion donante(integer)
+  IXFK_donacion proyecto(integer)
er) «PK>»
+  PK_donacion(integer)
+FK_donacion_donante
+PK_donante
E donante
«column»
*PK id: integer
* .
* .
t nombre: varchar(50)
Heger * apellido: varchar(50)
«PK»
+  PK_donante(integer)
eger) «unigue»
+  unique_correo(varchar)
integer)




[ | +PK_sensor
+FK_alerta_medicion

+FK_sensor_tipo_sensor

alerta

+PK_tipo_sensor «column»
*PK id: integer
* sensor: varchar(50)

* .
tipo_sensor E estado: text §
FK id_alerta sensor: intege
. «co}lu.mn» o
b e +  FK_alerta_medicion(inte

* tipo: varchar(40)

«index»
«PK» +  IXFK_alerta_medicion(in
+  PK_tipo_sensor(integer) «PK»
+  PK alerta(integer)
«unique»

+  unique_alerta_sensor(intt




jer)

eger)

ger)




